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(4 points)
1. Shade in the area that corresponds to the probability statement, then
determine the probability (picture is worth 2 points).

X ~ U[10,20]
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2. Shade in the area that corresponds to the probability statement, then
determine the probability (picture is worth 2 points).

The random variable "X" is governed by the
Uniform distribution on the interval [1,2].
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What is the probability that a random X will be
between 0.65 and 1.357
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Statistics 300
Quiz #8

(5 points)
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3. Shade in the area that corresponds to the probability statement, then

determine the probability (picture is worth 2 points).
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4. Shade in the area that corresponds to the probability statement, then
determine the probability (picture is worth 2 points).
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X ~ N(u=0,0=1) & N‘c-Y M/

What is the probability that a random X will be
between - 0.44 and 1.83?

P(-044<x<183)= o364

o'f” "/a"dé'ﬂ(
¥ M&?vmﬁ

(c). X~ N(u=100,6=13)

What is the probability that a random X will be
less than 1187 :

P(x <118) =
(x less than 118




gt:itzisiziacs = Name: %;i' ’LL \th(ﬂ’l

(6 points)
5. If the random variable X is distributed according to a normal distribution with mean (1) equal to 83 and
standard deviation (o) equal to 14, what is the 29t percentile (P20) for the population?

(Picture is worth 2 points.)
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_ 6. If the random variable X is distributed according to the standard normal distﬁbuti@ c=1)

what is the 70t percentile (Pzo) for X ? _
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(Picture is worth 2 points.)
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